Solution to ECE Test #11 S09

1. Write in the space provided the number of the pole-zero plot which matches each
magnitude frequency response graph.
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2. A DT feedback system has aforward path transfer function H, (z) = % and a
z-0.

feedback path transfer function H, (z) = 4z™*. For what range of values of K isthe system
stable?
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1. Write in the space provided the number of the pole-zero plot which matches each
magnitude frequency response graph.
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2. A DT feedback system has aforward path transfer function H, (z) = % and a
z+0.

feedback path transfer function H, (z) = 2z™. For what range of values of K isthe system
stable?
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